Opérations Mixtes (A)

Effectuez chaque opération.

11=+-11= 2211 = 13211 = 3311 =
11 x10= 44 =11 = 13x11= 11 x5=
11 x13 = I x11= 6611 = 11 x9=
Tx11 = 6611 = 66=-11= 4411 =
44 11 = 11 x12= 6x11= 165+11=
44 11 = Tx11 = 14x11= 99 =11 =
4x11= Tx11 = 6x11= 121 =11 =
88+11= 3x11= 13211 = 8811 =
15411 = 16511 = 11 x7= 4411 =
11011 = 16511 = 13211 = 6611 =
2211 = 11011 = 8x 11 = 11 x4 =
2x11 = 11 x15= 7111 = 14311 =
11=11= 11 x3= 11 x8 = 15411 =
14311 = 11 x1= 3x11l= TT=+=11=
Tx11 = 11 x10= 8x 11 = 2211 =
11x1= 11 x 14 = Ox11= 14311 =
11 x5= 7711 = 11 x15= Ox11=
Tx11 = 121 =11 = 11 x5= 143 =11 =
11 x7= 16511 = 14311 = 15411 =
3311 = 11 x2= 3311 = Tx11 =
6x11= 11 x3= 11 x10= 11 x7=
6611 = 6611 = 10x11 = 11 x7=
7111 = 14311 = 11=11= Sx11=
16511 = 16511 = 2x11 = 13211 =
143 11 = 2211 = 11 x12= 15411 =
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